1.
Williams, Inc. currently sells 20,000 units of its product per year for $200 each. Variable costs total $75 per unit. Williams' manager believes that if a new machine is leased for $250,000 per year, modifications can be made to the product that will increase its retail value. These modifications will increase variable costs by $50 per unit, but Williams is hoping to sell the modified units for $275 each.
a. Should Williams modify the units or sell them as is? How much will the decision affect profit?
b. What is the least Williams could charge for the modified units to make it worthwhile to modify them?
c. The leasing company is willing to negotiate the price of the machine lease. What is the most Williams would be willing to pay to lease the machine if they plan to charge $275 for the modified units? 
2.
Minner Corp produces three products, and is currently short on machine hours since one of its two machines is down - only 360 hours are available this month. The selling price, costs, labor requirements, and demand of the three products are as follows:
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a. In what order should Minner prioritize production of the products?
b. How many of each product should be sold while the machine is down to maximize profit?
c. What is the total contribution margin if Minner prioritizes production according to its limited resources? 

3.
Pulam, Inc. prepared the following master budget items for July:
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During July, Pulam actually sold 30,000 units. 

Prepare a flexible budget for Pulam based on actual sales. 

4.
 Irwin Inc. has provided the following information:

Budgeted production = 5,000 units
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Calculate the following variances:
a. direct materials price variance
b. direct materials quantity variance
c. direct labor rate variance
d. direct labor efficiency variance
e. variable overhead rate variance
f. variable overhead efficiency variance
g. fixed overhead spending variance 

 

5.
Arnold Company has two divisions with the following results:
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Arnold Company has a hurdle rate of 12%.
a. Calculate the return on investment for each division.
b. Break each division's return on investment down into its component parts using the DuPont method.
c. Calculate the residual income for each division. 

6.
Makinen Division of the Palo Company has an opportunity to invest in a new project. The project will yield an incremental operating income of $73,350 on average invested assets of $900,000. Makinen Division currently has operating income of $425,000 on average invested assets of $4,325,000. Palo Company has a 7% hurdle rate for new projects.
a. What is Makinen Division's ROI before making an investment in the project?
b. What is Makinen Division's residual income before making an investment in the project?
c. What is Makinen Division's ROI after making the investment in the project?
d. What is Makinen Division's residual income after making the investment in the project? 

7.
A firm had the following financial statement items:
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1. Calculate the year-to-year percentage change (trend analysis) for each financial statement item.
2. What observations do you note from the results? 

8.
The following partial income statement is available for the Jennings Corporation:
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Prepare a partial common size income statement. 

